
(c) 17 

(b) 31 

(d) 42 

142 

(c) 400 

(b) 5012 

(d) 3000 

(b) 8 and 49 

(c) 40 and 56 

(a) 37 and 63 

(a) 14 and 15 
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(a) Three thousand eight hundred (and) forty 

(e) Any correct method of a subtraction with not more than one error 

Mark schemes 

Q1. 

Q2. 

Q3. 

either order 

either order 

either order 

Either order 

SC1 152 or 242 

oe
Accept (four) hundred(s) 

A1 

B1 

B1 

B1 

B1 

B1 

B1 

B1 

B1 

M1 

B1 

B1 

B1 
[3] 

[6] 
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(e) 49 

(b) 63 

(c) 279 

(a) 2678 
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B1 

B1 

B1 

B1 

[5] 

[3] 

Q4. 
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